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Practice Sheet Answers

Subtraction practice (mild)

® H A & «

. 64784 - 21529 = 43,255 2. 75548 - 43,273 - 32,275
86,347 - 33,720 =52,627 4. 72583 -45251 - 27332

. 56421 -24175=32246 6. 92765 -48308 - 44457

. 45287 - 38,145 = 7142. There is a difference of 7142 between their
populations.

. 63564 -52382=11,182. The car drove 11,182 miles in the last year.

Challenge

There are many possible answers here.

Subtraction practice (hot)

. 57348 - 3762 =53586 2. 84823 - 6248 =78575
. 45,240 - 2758 = 42482 4. 83,602-7478=76,124
. 52033 - 5674 = 46,359 6. 86535 -8645=77890
. 73,452 - 5276 = 68,176 views on Sunday.
. 17,177 - 8345 = 8832. The plane has 883 2km further to go.
. 12364 - 1534 - 4245 = 6585. The hot-air balloon is now at an altitude
of 6585 feet.
10. 35478 - 3448 - 5999 = 26,03 1. The lottery winner has £26,031 left.
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Challenge

There are many possible answers here.
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